| Efficiency vs Dxy |
0.2
<

S : : : : : : : : :
LB

TSRS S T S S e st
(] r : : : : : : : : :
e T A S A A S S S

Q - N N N N N N N N N
O R S S s S S

o

Q0B+
L R T T

.7 R 0 ot o s
00

OL.\@_IIII;Illl;llll;llll;lllli III;IIII;IIII;IIII;IIII

Rati

098 56-156-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global__CKF__RECO
| Efficiency vs Dz | —e— DQM_V0001_R0O00000001__Global__mkFitl__RECO

o0 —«— DQM_V0001_R000000001__Global__mkFit2_ RECO
N . N T N T
N ; ;

T R S PR R -
2 A A

Boaf o

o : : : : :
.35 AR A A AR
o : : : : :
s S s R
7 S T i ———

Oiiii#ﬂﬁﬁ

PRI ST S SN SN U T S T S T R S T M ST S B N MO
. 1Y . . .

*9

o] C E E L E E
D: | R R R R R TR P It

---------- I 1 e

930 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


